dn) uonong

dn) smojieg g

1)

Suction Cup

PA
PB
PC

PCD
PD
PF

PFO
PH

CORE

PK2
PK2B
PK2L

PL

PN

PN-B
PP
PQ
PR
PU
PW

RA

SM
N

335

02 Suction Cup

PJ..

2 Bellows Cup

RoHS@

2 bellows cup with thin lip
For workpieces with the oblique surface or spherical surface,
and when there is no space for attaching spring type fitting !

Workpieces

Glass tips

with the oblique surface

Syringe

C

Wide range of cup sizes.

)

(2] 64 0 o [0 15020 25030 25 4o os0 o700

)

( Various fittings for many kinds of applications.

CONVUM



PJ

2 Bellows Cup
. n
Suction Cup 5
=
=]
Cup size (mm) 9
PJG $ 2 ~80 P.337 S
N
w
@
)
. 3
Fitting o)
c
- - -c
Type Ap pllca}ﬂ%(;up size S(’:;(:#()e Va’;::rl:m Piping « Connector Page
Cup with compact
fixed fitting @ 2~50 N/A Top Female screw P.341
PS- [ -J-F
Cup with compact 02
fixed fitting ¢ 2~50 N/A Top Male screw P.341
PS-[1 -J-M Suction Cup
PA
o o ¢ 2~50 Barb PB
Cup with fixed fitting N/A Top P.345
PJTK PC
¢ 60~ 80 Female screw
PCD
) ) o ® 2~50 Barb PD
Cup with fixed fitting N/A Side P.345
PJYK PF
¢ 60~ 80 Female screw
PFO
Cup with PH
compact spring fitting $2,4,6,8 3,5 Top Male screw P.349
CORE
c ith W B e Female screw -
up W":c_ﬂ_ $ 10,15 3,10, 15 . Push-in o361 PK2
spring fitting op Barb : —_—
NAPJTS ¢ 20 ~ 50 6, 15, 30 PK2B
¢ 60 ~ 80 10, 30, 50 Female screw
2,4,6,8 3,6 PKaL
c ith $2,4,6, ’ Female screw -
G Wi ® 10,15 3,10, 15 . Push-in PL
spring fitting Side Barb RS —_—
¢ 60 ~ 80 10, 30, 50 Female screw
PN-B
Cup with non-rotation $2~15 3,10,15 Female screw PP
spring fitting Top Push-in P.357 —_—
NAPJTH 6 20~ 50 6. 15,30 Barb PQ
PR
Cup with non-rotation $2~15 3,10,15 Female screw PU
spring fitting Side Push-in P.357 —_—
WA ® 20 ~ 50 6,15, 30 Barb PW
RA
SM
gllca)g;free core ¢ 6~80 - - - P.363 —_—
TN
Setting screw ¢ 2~50 = = = P.503

Suction Cup Selection Guide “é P.163

336



Im 2 Bellows Cup

)
c
&
S How to Order
(@]
c
o
N
w
o}
s}
5 PIG — 6 — N
(@]
= @® @
@ Cup Size (mm) é@ Cup Rubber Material
Symbol | Cup size Symbol | Cup size Symbol Material
2 o2 30 ¢ 30 N NBR(Nitrile rubber)
4 o4 35 ¢35 S Silicone rubber
6 ¢6 40 40 U Urethane rubber
— 8 ¢8 50 ¢ 50 F Fluorine rubber
PB 10 610 60 $60 NE Conductive NBR (Nitrile rubber)
PC 15 615 70 $70 SE Conductive silicone rubber
PCD 20 ®»20 80 ¢80 *Please consult with us for other material.
PD 25 ¢25
PF
PFO - - - -
o Cup Rubber Material Standard Specifications
m Symbol Material blardness | Ambient temperatiire Color Volume resistivity "**'?
CORE (A/s) (‘C)
— N NBR (Nitrile rubber) 55 -26 ~ 120 Black -
PK2 S Silicone rubber 55 -60 ~ 250 Translucent white -
PK2B U Urethane rubber 55 -20~75 Blue -
PK2L F Fluorine rubber 70 -10~230 Black with white dot -
PL NE |Conductive NBR (Nitrile rubber) 70 -26 ~ 120 Black with blue dot| 10°~10° Q-cm
oN SE Conductive silicone rubber 55 -60 ~ 250 Black with red dot 10°~10* Q-cm
Notel) Volume resistivity shows conductivity, resistance value is per cm®.
PN-B Note?2) It is the measured value of in our designated test piece.
PP
PO Applicable Rubber Material Table
PR Round type
Material Color Symbol
PU 2|46 |8|10|15(20(25|30|35|40|50|60|70 |80
PW NBR (Nitrile rubber) Black N o &6 6 6 6 &6 6 © © ¢ © & 0o o O
RA Silicone rubber Translucent S e oo eo/eo/0o 0o 0o 0 e/ 0 0 0 0 o
SM
Urethane rubber Blue U ® &6 @6 &6 6 6 6 6 6 6 o o o o o
™ Black
Fluorine rubber with white dot F ® © &6 &6 & 6 6 6 &6 & o o o o o
Conductive NBR (Nitrile rubber) | B2 " | N @0 @00 @00 @ 00 @0 0 0 O
. - Black
Conductive silicone rubber with red dot SE ® 6 6 &6 ¢ 6 6 6 &6 &6 ¢ & O O | O

@®:Instock OMade to order  x:None
*Please consult with us for other material.

337



PJ

PJG /2 Bellows Cup

Dimensions
(mm)
PJG-2 PJG-4 PJG-6
24 24 275
23 06
@4
@2 ‘
| |
<t [ ‘ NL7 |
- ‘ N 0
A — & o} _ JER o
i g
I N
21.2 @33
@2 06
@3.5 078
PJG-8 PJG-10 PJG-15
08 211 212
06 7.8 @79
@4 4.6 4.6
‘ | | ‘ |
\ \ - ; N
N I N )
I fj_¢ 9 | - \
| | " _
o o | =
> — ) S
= | o ™ —67
_'_ o
@5.3 6.8 ©9.7
08 210 215
I 1 I
9.8 2118 ©15.8
Weight
(9)
Model \ Applicable setting screw .
Material N (S |U|F NE SE (Screw specifications) S bt
PJG-2 [0.1/0.1[0.1|0.1|0.1|0.1| TN-PS-2A-M3 (Male M3X0.5) N NBR(Nitrile rubber)
TN-PS-2A-M3F (Female M3X0.5)
PJG-4 0.1]10.1]0.1]10.1]0.1|0.1| TN-PS-2A-M5 (Male M5X0.8) S Silicone rubber
PJG-6 02]02]02|03|02|0.2 TN-PS-10-M5 (Male M5XO.8) U Urethane rubber
PJG-8 |03/03|03|04|03]|0.3| TN-PS-10-M5F (Female M5X0.8) F Fluorine rubber
PJG-10 |05|05]/0.6|08|0.6|0.5 NE Conductive NBR (Nitrile rubber)
TN-PF-15-M5 (Male M5X0.8)
PJG-15 | 08|08|09|13|/09|0.8 SE Conductive silicone rubber

% Please refer to P.503 for setting screw detailed specifications.

dn) uonong

dn) smojeg 2

1)

Suction Cup

PA
PB
PC

PCD

PD
PF

PFO

PH

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
TN



dn) uonong

dny smojjeg z

PB

PC

PCD

PD
PF

PFO

PH

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
N

339

Im 2 Bellows Cup

Dimensions

(mm)
PJG-20 PJG-25
215 2175
©10.8 2108
4.6 4.6
. [
i~ ! N ‘
2 | < |
| |
|
| mn
) ‘ aal | a)
| |
1 ! 10 |
o} : © I
| |
i : ‘ :
213 @145
220 25
@21 @26
PJG-30 PJG-35
@20 @25
@108 2108
@258 5.8
~ | ~ |
]
® ®
. | . |
216 @20.5
@30 @35
I 1 I 1
@31 @36
Weight
(9)
Model \ Applicable setting screws .
Material N|S|U | F NESE (Screw specifications) il BT
PJG-20 16[16|1.7(25|1.7|1.6 N NBR(Nitrile rubber)
TN-PF-20-M5 (Male M5X0.8)
PJG-25 |27 |27|29|44|29|27 S Silicone rubber
PJG-30 |5.0|5.0/53|80|5.3|5.0 U Urethane rubber
TN-PF-25-M6 (Male M6X1.0)
PJG-35 | 73|73 |7.7\11.7|77|7.3 7 Fluorine rubber
% Please refer to P.503 for setting screw detailed specifications. NE Conductive NBR (Nitrile rubber)
SE Conductive silicone rubber




PJ

PJG /2 Bellows Cup

wn
c
3]
[=A
. . o)
Dimensions 3
(@)
(mm) S
PJG-40 PJG-50 ~
@30 @40 &
21038 @198 g
@58 7.8 (mj
— T e
\ | T
~ ‘ 1\1 ( f
: — © Pz I
D e |
@25 @32.1
@40 @50
‘ ‘ @53 02
PJG-60 PJG-70 Suction Cup
PA
062 PB
M10X1.25 @45 @74
RN @125 9 MTOX1.25 @55 PC
2125 N
| r——‘ Y PCD
— ] } ] - I
N | . = PD
e fi S PF
l et \
”E | °’£ : PFO
@45 252 PH
[ PJG-80 |
CORE
@82 PK2
M10X1.25 @68 PK2B
@125 L —_—
"—" o PK2L
| -
I I 1
PL
( Rl | "
n [ —
‘”I ‘ PN-B
@61
PP
@80 —_—
I 1 PQ
PR
) PU
Weight
PW
Model \ Applicable setting screws .
Material N S v PO NE ] EE (Screw specifications) el ST SM
PJG-40 10.0/10.0[/10.5/16.0|10.5|10.0 | TN-PF-25-M6 (Male M6X1.0) N NBR(Nitrile rubber) N
TN-PF-50-M6 (Male M6X1.0) S Silicone rubber
PJG-50 |19.1[19.1(20.1|306|20.1|19.1| o2 ve o el e
U Urethane rubber
PJG-60 |[34.6|34.6|35.6|46.1|35.6|34.6 -
B Fluorine rubber
PJG-70 |53.0/53.0|54.5|70.4|54.5|53.0 - - —
NE Conductive NBR (Nitrile rubber)
PJG-80 |78.0/78.0(79.8/99.0|79.8|78.0 - -
SE Conductive silicone rubber

% Please refer to P.503 for setting screw detailed specifications.

340



m Cup with Compact Fixed Fitting

Male Screw Female Screw

dn) uonong

dno smojjeg 2

Simple constitution of the cup and the screw.

4 $2~8 A

Screw and the cup can be disassembled

Attach the cup directly
0 2 I to the screw I

Suction Cup
PA Model number Cup Setting screw | Screw size Model number Cup Setting screw | Screw size
PB PS-2-J-M- [ PJG-2- PS-2-J-F-0 PJG-2- 0
TN-PS-2A-M3 M3X0.5 TN-PS-2A-M3F M3X0.5
PC PS-4-J-M- [J PJG-4- [ PS-4-J-F- [J PJG-4- O]
— PS-6-J-M- [] PJG-6- [ PS-6-J-F- [ PJG-6-
PCD TN-PS-10-M5 M5X0.8 TN-PS-10-M5F M5X0.8
- PS-8-J-M- [ PJG-8- PS-8-J-F- [ PJG-8- [
PD NG )
PF %[ in the table indicates the cup material.
PFO ( #10~50 w
PH - -
m Model number Model number
PS-10-J-M- 0" Screw and the cup are fixed PS-10-J-F- ™!
CORE PS-15-J-M- (] PS-15-J-F- [
e Screw and the cup e
PK2 PS-20-J-M- [ R1/8 can not Rp1/8 depth9 PS-20-J-F- [
PK2B PS-30-J-M- I 2R elEEEERrl e PS-30-J-F-
- PS-40-J-M- [ PS-40-J-F-[]
PK2L R — T
— PS-50-J-M-[J PS-50-J-F-[J
PL \_ J
PN Note 1) Screw size is M5.
S, %[ in the table indicates the cup material.
PN-B
PP How to Order
PQ
e PS — 6 — J — M — N
- @ @ ®
W (% ) Cup Size (mm) @ Screw Type &) Cup Rubber Material
RA Symbol | Cup size M Male screw Symbol Material
SM 2 »2 F Female screw N NBR(Nitrile rubber)
™ 4 b4 S Silicone rubber
6 6 U Urethane rubber
8 ¢8 F Fluorine rubber
10 ¢10 NE Conductive NBR (Nitrile rubber)
15 ¢15 SE Conductive silicone rubber
20 20 *Please consult with us for other material.
30 ¢ 30
40 ¢ 40
50 ¢50

341



PJ

Dimensions

PS /Cup with Compact Fixed Fitting

(mm)
PS-2/4-J-M PS-6/8-J-M
@)~ ©)-
‘ v S
M3X0.5 M5X08
| g
[as] : o0
© |
— ~
| ta | =
- o
V) %.l:
xS - X
>
1.2 @2
@A QA
Model number A B C Y | Weight(g) Model number A Y | Weight(qg)
PS-2-J-M- [ 2 105 | 45 1.5 1 PS-6-J-M- [J 6 4.2 15
PS-4-J-M- O 4 115| 55 | 24 PS-8-J-M- [ 8 4 )
%[ in the table indicates the cup material. %[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected. % The weight value is when NBR (Nitrile rubber) selected.
PS-10-J-M PS-15/20/30/40/50-J-M
©) - )
M5X0.8 ‘
R1/8
|
o - B
| .
N
I ~ Y| m
! 0N
-} < v
" %5—"r——§> > o —
@2 @H
@10 oA
Model number | Weight (g) Weight
PS-10-J-M- 0 7 Model number A B C H Y (9
%[ in the table indicates the cup material. PS-15-J-M- [ 15 25 11 2 3.3 8
% The weight value is when NBR (Nitrile rubber) selected. PS-20-J-M- [ 20 27 13 5.5 9
PS-30-J-M- [0 30 7 14
PS-40-J-M- [ 40 32 18 s 7.2 16
PS-50-J-M- [ 50 34 20 4 9 26

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

dn) uonong

dn) smojeg 2

1)

Suction Cup

PA
PB
PC
PCD
PD
PF
PFO
PH

CORE
2
PK2B
PK2L
o

PN
NB
—

PQ

PR

PU

PW

RA

SM

™

342



m Cup with Compact Fixed Fitting

2]
c
(2}
=4
o - -
3 Dimensions
Q (
S mm)
N PS-2/4-J-F PS-6/8-J-F
us]
o
o - .
s i
7]
©
| o M5X0.8 .
M3X0.5
|
. © i
i ©
N ‘ |
o .
y | ©
| =
1 e E |
’_ -7 o
= S=
i > |
>
1.2 @2
PB QA oA
PC
PCD Model number A B (o Y | Weight(g) Model number A Y |[Weight (g)
PD PS-2-J-F-J 2 105 | 45 1.5 15 PS-6-J-F- [J 6 4.2 25
PS-4-J-F- [ 4 115| 55 | 24 ) PS-8-J-F- [ 8 4 )
PF *[Jin the table indicates the cup material. *[Jin the table indicates the cup material.
— % The weight value is when NBR (Nitrile rubber) selected. % The weight value is when NBR (Nitrile rubber) selected.
PFO
PH
m PS-10-J-F PS-15/20/30/40/50-J-F
CORE \ _
. =\
PK2
— ( . {o))-=
PK2B
- v _ | 7 A
PK2L
M5X0.8
PL — Rp1/8 depth 9
PN } \
PN-B © | o i
PP - ‘ s
S T n
~
PQ | - o
S g 5 ‘
o
—— V]
PU ™ § o] —__}':
PW @02 oH
@10
RA OA
SM
™ Model b Weight (g)
odel number eig g Weight
PS-10-J-F- 1 8 Model number A B C H Y (9
%[ in the table indicates the cup material. PS-15-J-F- O 15 25 11 2 3.3 8
% The weight value is when NBR (Nitrile rubber) selected. PS-20-J-F- ] 20 27 13 55 10
PS-30-J-F- [J 30 7 15
PS-40-J-F- ] 40 32 18 3 7.2 17
PS-50-J-F- (] 50 34 20 4 9 27

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

343



PJ

PS /Cup with Compact Fixed Fitting

dn) uonong

dn) smojeg 2

1)

Suction Cup
PA
PB
PC

D

—
PF

PO

—
CORE
PK2
PK2B
PK2L
PL
PN
PN-B

—

—

——

PU
PW
RA
SM
™

344



dnp uonong

dn) smojleg g

1

Suction Cup

PA
PB
PC

PCD

PD
PF

PFO

PH

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
TN

P11.€ 4.9 Cup with Fixed Fitting

Consisting of fitting, setting screw, suction cup.

4 62, 4

With bracket
2-95.5

* *

Attach the cup directly to the fitting

)

p

$6~8 h

One touch
mounting
Unnecessary

set screw
Easily maintenance
and replaced

Attach the cup directly to the fitting

\
4 $10~50 N $60~80 A
female screw in the cup
* *
A 4 A 4
* *
Attach the cup to the fitting with setting screw Screw the fitting directly to the cup
\ %
How to Order
PJ T K — 6 — N
@ Vacuum Port @ Cup Size (mm) %Dcup Rubber Material

T Top Symbol | Cup size Symbol | Cup size Symbol Material

Y Side 2 62 30 »30 N NBR(Nitrile rubber)
4 o4 85 35 S Silicone rubber
6 ¢ 6 40 D40 U Urethane rubber
8 %8 50 »50 F Fluorine rubber
10 ¢ 10 60 60 NE Conductive NBR (Nitrile rubber)
15 ¢15 70 »70 SE Conductive silicone rubber
20 ¢20 80 »80 ¥ Please consult with us for other material.
25 ¢25




PJ

Combination Table

PJTK-YK /Cup with Fixed Fitting

Top Port
Model number Cup Setting screw Fitting Piping specifications
PJTK-2- [ PJG-2- [
PFTK-1.5A-K $4X2.5
PJTK-4- (] PJG-4- T Attach the cup directly
PJTK-6- ] PJG-6- to the fitting
PFTK-5A-K
PJTK-8- [ PJG-8- [
PJTK-10- ] PJG-10- O
TN-PF-15-M5
PJTK-15- ] PJG-15-
PFTK-15-K Barb
PJTK-20- [ PJG-20- O
TN-PF-20-M5 p6X4
PJTK-25- ] PJG-25- ]
PJTK-30- PJG-30- [
PJTK-35- ] PJG-35- ] TN-PF-25-M6 PFTK-25-K
PJTK-40- PJG-40- [
PJTK-50- [J PJG-50- [ TN-PF-50-M8 PFTK-50-K
colbsEe L PJG-60- 1 Screw the fitting
PJTK-70- [ PJG-70- O directly into the female PFTK-60-K Rc1/8 (Female)
PJTK-80- [ PJG-80- (] screw in the cup
[ in the table indicates the cup material.
Side Port
Model number Cup Setting screw Fitting Piping specifications
PJYK-2- [J PJG-2- [
PFYK-1.5A-K $4X2.5
PJYK-4- [ PJG-4- [ Attach the cup directly
PJYK-6- [ PJG-6- [ to the fitting
PFYK-5A-K
PJYK-8- [J PJG-8- [
PJYK-10-[J PJG-10-0O
TN-PF-15-M5
PJYK-15-[1 PJG-15-0
PFYK-15-K Barb
PJYK-20- [ PJG-20- [
TN-PF-20-M5 p6X4
PJYK-25-[] PJG-25- [
PJYK-30- [ PJG-30-
PJYK-35- [] PJG-35- [ TN-PF-25-M6 PFYK-25-K
PJYK-40- [ PJG-40- ]
PJYK-50- [ PJG-50- [J TN-PF-50-M8 PFYK-50-K
PIYK60-E PJG-60- [ Screw the fitting
PJYK-70- [J PJG-70- O directly into the female PFYK-60-K Rc1/8 (Female)
PJYK-80- O PJG-80- [ screw in the cup

[ in the table indicates the cup material.

dn) uonong

dn) smojeg 2

1)

Suction Cup

PA
PB
PC

PCD

PD
PF
PFO
PH

CORE

PK2

PK2B

PK2L

PL
PN

PN-B

PP

PQ

346

PR
PU
PW
RA
SM
TN



H11L. € 4.4 Cup with Fixed Fitting

wn
c
(2}
[=]
o . .
3 Dimensions
(@]
'g (mm)
N Top Port PJTK-2/4 Top Port PJTK-6/8 Top Port PJTK-10/15/20/25
vy)
o
2
& @5
(@]
5 @5 23
© T« ri 10H
2.5 12H M5X0.8
L 228 " M8X1.25 =
212 MOoX1 o
I M5X0.5 : <« al L,
= e v Tl N| o
oy E 7H ~ T Sl =@ M5X0.8 -
m | 0 B A Y
o o
O @ ~ o — 10H
1 212 225 225
QA
PB
Model number | A B C |Weight(g) Model number| A |Weight(g) Model number | A B C Y |Weight(g)
PC PJTK-2-[J 2 24 | 45 s PJTK-6- [J 6 . PJTK-10-C] | 10 |425| 95 | 3 14
PCD PJTK-4- ] 4 25 | 55 PJTK-8- ] 8 PJTK-15-C1 | 15 | 44 | 11 | 45 15
- [ in the table indicates the cup material. [ in the table indicates the PJTK-20-01 | 20 | 46 13 | 55 17
PD 3 The weight value is when NBR (Nitrile cup material. PJTK-25-01 | 25 |485|155] 65 19
rubber) selected. % The weight value is when NBR
PF (Nitrile rubber) selected. [ in the table indicates the cup material.
- 3% The weight value is when NBR (Nitrile rubber)
PFO selected.
PH
m Top Port PJTK-30/35/40 Top Port PJTK-50 Top Port PJTK-60/70/80
CORE
— Rc1/8
PK2
PK2B @5 2> M16X1.5 ik
— M5X0.8 23 M5X08 || @3
PK2L 14H
M10X1.5
PL - °
~ o =<
PN ’I Nl ©
— 5 3 !
PN-B v A
- S @]
PP —
@39
PQ 239
— 4H @50 14H
PR
PU Model number | A Y |Weight(g) Model number |Weight (g) Model number | A B C Weight (g)
PW PJTK-30-0J | 30 - 42 PJTK-50- ] 58 PJTK-60-[] | 60 |625|225| 8 144
PJTK-35- | 35 a4 %[ in the table indicates the cup PJTK-70-00 | 70 635 235| 95 163
RA PJTK-40-01 | 40 | 7.2 Xﬁﬁteria‘; el fs whon NBR PJTK-80-1 | 80 ' T 190
¥ The weight value is when
S %[ in the table indicates the cup material. (Nitrile rubber) selected. %[ in the table indicates the cup material.
M ¥ The weight value is when NBR (Nitrile % The weight value is when NBR (Nitrile rubber)
™ rubber) selected. selected.

347



PJ

PJTK-YK /Cup with Fixed Fitting

@28

wn
C
(2]
[=A
. . o
Dimensions 3
(@]
(mm) S
Side Port PJYK-2/4 Side Port PJYK-6/8 Side Port PJYK-10/15/20/25 N
us)
o
s}
210 53
M3X0.5 depth 5 @10 M4X0.7 depth 6 M4X0.7 depth6 o
1" 16 <
<_.‘ 5H 10H M5X0.8 i/ 10H o
wn (52
o~ Q| Q
— (2a]
Q| = -
= i n
¥— /= [aa] —
ey e— ™M
‘ M5X0.8 Y
] >_<+7
1.2 @25 @25
o 2 02
QA QA 3H QA
" i Suction Cup
PA
Model humber| A B C |Weight(g) Model number| A |Weight(g) Model number| A B C Y |Weight(g) PB
PJYK-2- [J 2 |205| 45 3 PJYK-6- ] 6 16 PJYK-10-1 | 10 |315| 95 | 3 17
PJYK-4-01 | 4 |215]| 55 PJYK-8-0 | 8 PJYK-15-01 | 15 | 33 | 11 | 45| 18 PC
%[ in the table indicates the cup material. %[ in the table indicates the PJYK-20-C] | 20 | 35 | 13 | 55 20 PCD
3 The weight value is when NBR (Nitrile cup material. PJYK-25-11 | 25 |375|155]| 6.5 22
rubber) selected. 3% The weight value is when NBR PD
(Nitrile rubber) selected. %[ in the table indicates the cup material.
% The weight value is when NBR  (Nitrile rubber)
selected. PF
PFO
PH
Side Port PJYK-30/35/40 Side Port PJYK-50 Side Port PJYK-60/70/80 m
CORE
212 M8X1.25 depth 11 PK2
M6X1 depth 8 212 —
M5X0.8 PK2B
& | 14H MSX08 1 M6X1 depth 8 P
L 14H PK2L
58 . e
RN NS a PL
NI X QN o K
] = o PN
M8X1.25
M6X1 i o ¢ i I PN-B
> 2 0\%5 =" I —_—
? @29 @39 PP—
3H on 4H 250 M10X1.25 PQ
PR
Model number| A Y |Weight(g) Model number | Weight (g) Model number| A B o Y |Weight(g) PU
PJYK-30-0 | 30 - 46 PJYK-50- OJ 62 PJYK-60-] | 60 |625|225| 8 139 PW
PJYK-35-01 | 35 " 50 in the table indicates the cup R 70 | o |035| 05 108
PJYK-40-01 | 40 | 7.2 material _ PJYK-80-01 | 80 ’ T 185 RA
% The weight value is when NBR
%[ in the table indicates the cup (Nitrile rubber) selected. %[ in the table indicates the cup material.
material. % The weight value is when NBR (Nitrile rubber) SM
% The weight value is when NBR (Nitrile selected. ™

rubber) selected.

348



IE Cup with Compact Spring Fitting

(%)
c
2 4 $2~8 R
=
=}
(@]
c
°
N
w
@
%)
=
[/
(@]
c
o°
: 3
Simple construction of the cup and the fitting.
o )
How to Order
PSS — L3 — PJG — 6 — N
PB @® @ ®
PC
PCD @D Stroke (mm) @ Cup Size (mm) @ Cup Rubber Material
PD Symbol Length | Applicable cup size Symbol Cup size Symbol Material
S3 3 2,4 2 2 N NBR(Nitrile rubber)
—PF [&3 3 ¢6,8 4 ¢4 S Silicone rubber
PFO S5 5 $2,4 6 #6 U Urethane rubber
PH L5 5 $6,8 8 ¢8 F Fluorine rubber
m NE | Conductive NBR (Nitrile rubber)
CORE SE Conductive silicone rubber
e ¥Please consult with us for other material.
PK2
PK2B Combination Table
PK2L
—PL Model number Cup Fitting Piping specifications
PSS-S3-PJG-2- [ PJG-2-
PN PSS-S3
PSS-S3-PJG-4- [] PJG-4-
PN-B PSS-S5-PJG-2- [ PJG-2- [
— PSS-S5
PP PSS-S5-PJG-4- [J PJG-4- O
_ M5X0.8 (Male)
p PSS-L3-PJG-6- [] PJG-6- [
Q PSS-L3
ﬁ PSS-L3-PJG-8- [] PJG-8- [
_— PSS-L5-PJG-6- ] PJG-6- [
PU PSS-L5
PSS-L5-PJG-8- (] PJG-8- [
PW ¥ [ in the table indicates the cup material.
RA . L.
- Spring Specifications
TN Cup size Unit $2~¢8
Stroke mm 3 5
Spring load at O stroke N 1.5 1.62
Spring load at full stroke N 2.3 3.2
Tightening torque N-m 0.58~0.68

%Due to structural reason, Tlift-ups may occur in case vacuum pressure is more than -65kPa.
The weight of non Tlift-ups in horizontal lifting is about over 200g.
Screw must be tightened in recommended tightening torque, otherwise malfunction would occur.

349



PJ

PSS /Cup with Compact Spring Fitting

Dimensions
(mm)
PSS-S3-2/4 PSS-S5-2/4
[ee) [ee)
M5X0.8 @38
M5X0.8 ~
3.8
L )
< 2
n © | T
<t n
—1 a ‘
Vo) i | L
! = w- | w
| w 1
1
o~ wn
o o
1.2 1.2
QA OA
Model number A B E F |Weight(g) Model number A B E F |Weight(g)
PSS-S3-PJG-2- [ 2 45 1195|255 3 PSS-S5-PJG-2- [J 2 45 1235|295 3
PSS-S3-PJG-4- [] 4 55 | 205|265 PSS-S5-PJG-4- [J 4 55 | 245|305

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

%[ in the table indicates the cup material.
¥ The weight value is when NBR (Nitrile rubber) selected.

PSS-L3-6/8 PSS-L5-6/8

M5X0.8
msxog _ 238
n O
<~ S
al |l
o n
T
1 X
oy
)T [e)}
1.2
QA
Model number A |Weight(g) Model number A |Weight(g)
PSS-L3-PJG-6-[] 6 6 PSS-L5-PJG-6- [ 6 .
PSS-L3-PJG-8-[] 8 PSS-L5-PJG-8- [ 8

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

dn) uonong

dn) smojeg 2

1)

Suction Cup
PA
PB
PC
PCD
PD
PF
PFO
PH

CORE
2
PK2B
PK2L
o

PN
NB
—

PQ

PR

PU

PW

RA

SM

™

350



dn) uonong

dno smojjeg 2

1

Suction Cup

PA
PB
PC

PCD

PD
PF

PFO

PH

CORE

PK2

PK2B
PK2L

PL
PN

PN-B

PP

PQ

PR
PU
PW
RA
SM
TN

351

NAPJTS-YS [eif¢)

with Spring Fitting

Consisting of fitting, setting screw, suction cup.

4 $2~8 h

2 3 2 3
& & A 4 A 4
z 3 2 3
. e Attach the cup to the fitting Screw the fitting directly
K TR (112 () AR 0 U (iATle) j K with setting screw j K into the female screw in the cup j

4 $20~50 h

4 $60~80 h

How to Order

NAP T S — 63 — N — T
@ @ ©) @
—
| ‘ — @ Connector
gVacuum @ Cup Size - Stroke (mm) Slenk| WA
Port Symbol | CUp size Cup size Cup size T Barb
T T ymbol | "5t oke Symbol | “gtroke  SYmbol| “Siroke (0] Push-in
v W 2-3 ¢2-3 20-6 ¢ 20-6 50-6 $50-6 * ge Sgezier;?;fazzq‘ cr;"ot
— 2-6 $2-6 20-15 | $20-15  50-15 | ¢50-15

4-3 ¢4-3 20-30 | $20-30 50-30 | $50-30

4-6 4-6 25-6 | ¢25-6  60-10 | $60-10 @ Cup Rubber Material
6-3 ¢6-3 25-15 | ¢25-15 60-30 | $60-30 Symbol Material

6-6 $6-6 25-30 | $25-30 60-50 | ¢$60-50 N NBR(Nitrile rubber)

8-3 $8-3 30-6 ¢ 30-6 70-10 | ¢70-10 S Silicone rubber

8-6 ¢ 8-6 30-15 | $30-15 70-30 | ¢70-30 U Urethane rubber

10-3 ¢$10-3 30-30 | $30-30 70-50 | ¢70-50 F Fluorine rubber
10-10 | ¢10-10 35-6 ¢ 35-6 80-10 | #80-10 NE | Conductive NBR (Nitrile rubber)
10-15 | ¢10-15 35-15 | ¢$35-15 80-30 | $80-30 SE Conductive silicone rubber
15-3 ®15-3 35-30 #35-30 80-50 @ 80-50 ¥ Please consult with us for other material.
15-10 | ¢15-10 40-6 ¢ 40-6
15-15 | ¢15-15 40-15 | ¢40-15

40-30 | $40-30




PJ

NAPJTS - YS /Cup with Spring Fitting

2
q
Spring Specifications S
£
Cup size Unit 62,4 $6,8 $10,15 $20~50 $60~80 o
Stroke mm | 3 ‘ 6 | 3 ‘ 6 | 3 ‘ 0] 15| 6 ‘ 15 | 30 | 10 | 30 | 50 &
Spring load at O stroke N 0.5 0.49 0.61 0.64 2.45 29 | 882 | 6.76 | 833 g
Spring load at full stroke | N | 06 | 07 | 059|069 | 077 | 1.17 |343] 49 |588| 118156/ 196 o
©
Combination Table
Piping specifications
Model number Cup Setting screw Fitting Without Barb Push-in
connector * blank | connector + T |connector * O
NAPJOS-2-3-0) (T/0) |, . NAPFOS-1.5A-3-K (-T/O) 02
NAPJOS-2-6-1 (-T/0) NAPFOS-1.5A-6-K (-T/0) Suction Cup
NAPJOS-4-3-0 (T/0) |, .~ NAPFOS-1.5A-3-K (-T/O) o
NAPJOS-4-6-00 (-T/O) ﬁitrteagl‘ytrj&ip NAPFOS-1.5A-6-K (-T/O) M3X0.5 6 4X2.5
NAPJOS-6-3-0) (T/0) |, .. fitting NAPFOS-5A-3-K (-T/O) (Female) : PB
NAPJOS-6-6-00 (-T/0) NAPFOS-5A-6-K (-T/O)
NAPJOS-8-3-0) (T/0) |, .. NAPFOS-5A-3-K (-T/O) P
NAPJOS-8-6-00 (-T/0) NAPFOS-5A-6-K (-T/O) PCD
NAPJOS-10-3-00 (-T/0) NAPCOS-10-3-K (-T/O) o
NAPJOS-10-10-00 (-T/0) | PJG-10-0 NAPCOS-10-10-K (-T/O)
NAPJOS-10-15-L1 (-T/0) INPF15s | NAPCOS-10-15K (-T/0) PF
NAPJOS-15-3-0] (-T/0) NAPCOS-10-3-K (-T/O) PFO
NAPJOS-15-10-0 (-T/0) | PJG-15-0 NAPCOS-10-10-K (-T/O)
NAPJOS-15-15-[] (-T/0) NAPCOS-10-15-K (-T/O) PH
NAPJOS-20-6-0] (-T/0) NAPBOS-20-6-K (-T/O) m
NAPJOS-20-15-0 (-T/0) | PJG-20-00 NAPBOS-20-15-K (-T/O)
NAPJOS-20-30-0] (-T/0) NPE20Ms | NAPBOS-20-30K (T/0) CORE
NAPJOS-25-6-00 (-T/0) NAPBOS-20-6-K (-T/O) PK2
NAPJOS-25-15-0] (-T/0) | PJG-25-0] NAPBOS-20-15-K (-T/O) _
NAPJOS-25-30-01 (-T/O) NAPBOS-20-30K (-T/0) | M5X0.8 PK2B
NAPJOS-30-6-0] (-T/0) NAPFOS-20B-6.K (-T/0) | (Female) o6x4 PIL
NAPJOS-30-15-01 (-T/0) | PJG-30-0J NAPFOS-20B-15-K (-T/O) S
NAPJOS-30-30-0J (-T/O) NAPFOS-20B-30-K (-T/0) PL
NAPJOS-35-6-L1 (-T/O) NAPFOS-20B-6-K (-T/O) PN
NAPJOS-35-15-00 (-T/0) | PJG-35-0 TN-PF-25-M6 | NAPFOS-20B-15-K (-T/O) —
NAPJOS-35-30-L] (-T/0) NAPFOS-20B-30-K (-T/O) PN-B
NAPJOS-40-6-0] (-T/0) NAPFOS-20B-6-K (-T/O) PP
NAPJOS-40-15-0 (-T/0) | PJG-40-00 NAPFOS-20B-15-K (-T/O) R
NAPJOS-40-30-0] (-T/0) NAPFOS-20B-30-K (-T/O) P
NAPJOS-50-6-0 (-T/0) NAPFOS-20B-6-K (-T/O) PR
NAPJOS-50-15-0] (-T/0) | PJG-50-0] TN-PF-50-M6 | NAPFOS-20B-15-K (-T/O) bU
NAPJOS-50-30-1 (-T/O) NAPFOS-20B-30-K (-T/O)
NAPJOS-60-10-0] NAPFOS-60-10-K PW
NAPJOS-60-30-] PJG-60-[] NAPFOS-60-30-K "
NAPJOS-60-50-L] NAPFOS-60-50-K
NAPJOS-70-10-0] Screw the fitting| NAPFOS-60-10-K SM
NAPJOS-70-30-C] PJG-70-00 ?é?grleyégtgvtr:i NAPFOS-60-30-K (FF::;; i) . ™
NAPJOS-70-50-L] the cup NAPFOS-60-50-K
NAPJOS-80-10-01 NAPFOS-60-10-K
NAPJOS-80-30-0 PJG-80-[] NAPFOS-60-30-K
NAPJOS-80-50-C] NAPFOS-60-50-K

%[ in the table indicates the cup material.
%O in the table indicates the vacuum port (T or Y).
3 The mounting torque of the H8 nut for NAPFOS-5A-3/6-K (-T/O) should be 2.0 N - m or less.

352




N\ LEVALRR Y Cup with Spring Fitting

2]
c
(2}
=
o . .
3 Dimensions
2 <
5 mm)
N NAPJT/YS-2/4 NAPJT/YS-6/8
us] @3
o @3
Q
: y ¢
) 2l o 4 N
S ! ot f
! M3X0.5
M3X0.5 ‘ 4H
| M6X0.75
mexo7s ] / B
N~
. f s
g ) ‘
‘ 1o X
| W ©
“’r 8H 2 r
T O]
M3X0.5 012
QA M3X0.5
PB ‘
Model number A B D E [Weight(g) Model number A C D E [Weight(g)
PC NAPJT/YS-2-3-J (-T/O) > | a5 395 3 NAPJT/YS-6-3- ] (-T/O) 6 | a2 44 | 3
PCD NAPJT/YS-2-6- [] (-T/O) 1425 6 6 NAPJT/YS-6-6- [] (-T/O) ' 47 | 6 7
— NAPJT/YS-4-3- ] (-T/O) 4 |55 405| 3 NAPJT/YS-8-3- [J (-T/O) s 4 44 | 3
PD NAPJT/YS-4-6- ] (-T/O) " |435| 6 NAPJT/YS-8-6- ] (-T/O) 47 | 6
PF [ in the table indicates the cup material. [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector ¥ The weight value is when NBR (Nitrile rubber) / without connector
PFO selected. selected.
PH NAPJT/YS-10 NAPJT/YS-15
CORE ol
PK2 '% i
PK28B Width across flat 6
PK2L
PL o
PN -
PN-B = °
_PNB of ol
PP :
PQ -
PR
PU
Model number D E F G |Weight(g) Model number D E F G |Weight(g)
PW NAPJT/YS-10-3-0J (-T/O) |59.5| 3 23 | 17 30.5 NAPJT/YS-15-3-00 (-T/O) | 61 3 23 | 17 31.5
RA NAPJT/YS-10-10-J (-T/O) |66.5| 10 31 NAPJT/YS-15-10-0J (-T/O) | 68 | 10 32
NAPJT/YS-10-15-1 (-T/O) | 79 | 15 |30.5(24.5| 335 NAPJT/YS-15-15- ] (-T/O) |80.5| 15 [30.5(24.5| 345
SM %[ in the table indicates the cup material. [ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector 3 The weight value is when NBR (Nitrile rubber) / without connector
TN selected. selected.

Common Specifications

Connector Weight(g)

Symbol Tube O.D ¢ 4 Tube O.D ¢ 6
T 0.5 1.5
(0] 3.0 4.0

353



NAPJTS - YS /Cup with Spring Fitting

Dimensions
(mm)
NAPJT/YS-20 NAPJT/YS-25
) of
[¥a) wn
L [N
I o - =)
© m 2 jj\
jag) \n
L
Model number D E E G |Weight(g) Model number D E F G |Weight(g)
NAPJT/YS-20-6-[1 (-T/O) | 78 | 6 36 | 28 66 NAPJT/YS-25-6- ] (-T/O) |80.5| 6 36 | 28 68
NAPJT/YS-20-15-[1 (-T/0) | 87 | 15 71 NAPJT/YS-25-15-[1 (-T/0O) |89.5| 15 73
NAPJT/YS-20-30- [ (-T/0) | 124 | 30 | 58 | 50 96 NAPJT/YS-25-30- [] (-T/O) |126.5| 30 | 58 | 50 98

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

selected.

NAPJT/YS-30

NAPJT/YS-35

F

18| 21

Model humber D E F G |Weight(g) Model number D E F G |Weight(g)
NAPJT/YS-30-6-1 (-T/O) | 86 | 6 36 | 28 69 NAPJT/YS-35-6-1 (-T/0) | 86 | 6 36 | 28 715
NAPJT/YS-30-15-01 (-T/O) | 95 | 15 74 NAPJT/YS-35-15-(1 (-T/O) | 95 | 15 76.5
NAPJT/YS-30-30-[1 (-T/0) | 132| 30 | 58 | 50 99 NAPJT/YS-35-30- (1 (-T/O) | 132| 30 | 58 | 50 | 101.5

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

Common Specifications

%[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0) 4.0

dn) uonong

dn) smojeg 2

1)

Suction Cup
PA
PB
PC
PCD
PD
PF
PFO
PH

CORE
2
PK2B
PK2L
o

PN
NB
—

PQ

PR

PU

PW

RA

SM

™

354



dn) uonong

dn) smojeg 2

1))

Suction Cup

PA
PB
PC
PCD
PD
PF
PFO
PH

CORE
Yy
k2B
PR
e
PN
PNB
e
PQ
PR
PU
PW
RA
SM
N

355

N\ LEVALRR Y Cup with Spring Fitting

Dimensions

(mm)
NAPJT/YS-40 NAPJT/YS-50
@5 @6
st i T
i, 0
M5X0.8 ‘ 12H
M14X1 o) 1o "
wn -
7
ol . M5X08 ol L
L . i | R
o T
S j mex1 T g4 N j
o - — R
@29 @3
3H 240 4H @50
Model number D E F G |Weight(g) Model number D E E G |Weight(g)
NAPJT/YS-40-6- ] (-T/O) 86 6 36 | 28 735 NAPJT/YS-50-6- I (-T/O) 88 6 36 | 28 89
NAPJT/YS-40-15-0 (-T/O) | 95 | 15 78.5 NAPJT/YS-50-15-0 (-T/O) | 97 | 15 94
NAPJT/YS-40-30- ] (-T/O) | 132 | 30 | 58 | 50 103.5 NAPJT/YS-50-30- 1 (-T/O) | 134 | 30 | 58 | 50 119

* [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPJT/YS-60

30

1
o~
o
Model number D E Weight (g)
NAPJT/YS-60-10- CJ 129.5 20 294
NAPJT/YS-60-30- [J 159.5 50 328
NAPJT/YS-60-50- [J 184.5 75 355

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) selected.

Common Specifications

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPJT/YS-70

30

235

Model humber D E Weight (g)
NAPJT/YS-70-10- O 130.5 20 309
NAPJT/YS-70-30- [ 160.5 50 346
NAPJT/YS-70-50- [ 185.5 75 370

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) selected.

Connector Weight(g)

Model Number Tube O.D ¢ 6
T 15
o 4.0




PJ

NAPJTS - YS /Cup with Spring Fitting

Dimensions

dn) uonong

(mm)

NAPJT/YS-80

dn) smojeg 2

] 1)

Suction Cup

L
[e)

235

PA
PB

M10X1.25

Model number D E Weight (g) PC
NAPJT/YS-80-10- (] 1305 | 20 338 —
NAPJT/YS-80-30- (] 1605 | 50 372 PCD
NAPJT/YS-80-50- (] 1855 | 75 399 PD

*[Jin the table indicates the cup material. PE
% The weight value is when NBR (Nitrile rubber) selected.

PFO
PH

CORE
2
PK2B
PK2L
o

PN
NB
—

PQ

PR

PU

PW

RA

SM

™

356



\A\Z 1R 450 Cup with Non-rotation Spring Fitting

dn) uonong

dno smojjeg 2

Consisting of fitting, setting screw, suction cup.

4 $2~8 N[ $10~50 A

Preventing
the workpiece
rotates with the

hexagonal shape
of axis stroke

1

Suction Cup

PA
PB 4 > 3
PC
PCD * * + 2
PD
PF o
—=
__PFO. \_ L J
PH
m How to Order
CORE
— NAPJ T H — 63 — N — T
PK2
PK2B CD ® @ @
- \
PK2L M Vacuum Port @ Connector
PL T Top Blank N/A
PN Y Side T Barb
PN-B (0] Push-in
— @ Cup Size - Stroke (mm) - ® Cup Rubber Material
PP - - -
- Symbol CSuteoslge Symbol CSutFr>oSIiZee Symbol Csutproslge Symbol Material
2-3 ¢ 2-3 15-3 ¢ 15-3 35-6 ¢ 35-6 N NBR(Nitrile rubber)
i 2-10 ¢2-10 15-10 | ¢15-10 35-15 | $35-15 S Silicone rubber
PU 2-15 | ¢2-15 15-15 | ¢15-15 35-30 | $35-30 u Urethane rubber
PW 4-3 »4-3 20-6 ¢20-6 40-6 ¢ 40-6 F Fluorine rubber
RA 4-10 ¢$4-10 20-15 | $20-15 40-15 | ¢40-15 NE Conductive NBR (Nitrile rubber)
4-15 ¢4-15 20-30 | $20-30 40-30 | $40-30 SE Conductive silicone rubber
i 6-3 »6-3 25-6 @ 25-6 50-6 ®»50-6 XPlease consult with us for other material.
™ 6-10 | ¢6-10  25-15 | 25-15 50-15 | ¢50-15
6-15 ¢$6-15 25-30 | $25-30 50-30 | $50-30
8-3 ¢8-3 30-6 ¢ 30-6
8-10 ¢ 8-10 30-15 | $30-15
8-15 ¢8-15 30-30 | $30-30

10-3 ¢10-3
10-10 | $10-10
10-15 | $10-15

357



PJ

NAPJTH + YH /Cup with Non-rotation Spring Fitting

wn
g
Spring Specifications S
g
Cup size Unit $2,4 $6~15 $20~50 N
Stroke mm 3 (10|15 | 3 |10 15] 6 | 15| 30 g
Spring load at O stroke N 0.3 0.5 0.3 0.61 0.64 2.45 2.9 2
Spring load at full stroke N 0.4 0.8 0.77 ‘ 1.17 3.43 ‘ 49 | 5.88 Ej
©
Combination Table
Piping specifications
Model number Cup |Setting screw Fitting Without Barb Push-in
connector ¢ Blank | connector* T | connector « O
NAPJOH-2-3-[0 (-T/0) NAPFOH-1.5A-3-K (-T/0) 02
NAPJOH-2-10-0J (-T/0) | PJG-2-OJ NAPFOH-1.5A-10-K (-T/O) Suction Cup
NAPJOH-2-15-[0 (-T/0) NAPFOH-1.5A-15-K (-T/O) M3XO0.5 bax25 PA
NAPJOH-4-3-0 (-T/0) NAPFOH-1.5A-3K (-T/0) (Female) o8
NAPJOH-4-10-0J (-T/0) | PJG-4-OJ NAPFOH-1.5A-10-K (-T/0)
NAPJOH-4-15-[] (-T/O) Attach the cup | NAPFOH-1.5A-15-K (-T/0) PC_
d_ir(_act[y to the PCD
NAPJOH-6-3-[1 (-T/0) fitting NAPFOH-5A-3-K (-T/0)
NAPJOH-6-10-0] (-T/0) | PJG-6-OJ NAPFOH-5A-10-K (-T/0) PD
NAPJOH-6-15-01 (-T/0) NAPFOH-5A-15-K (-T/0) PE
NAPJOH-8-3-0 (-T/0) NAPFOH-5A-3-K (-T/O) V
NAPJOH-8-10-0J (-T/O) | PJG-8-J NAPFOH-5A-10-K (-T/O) R
NAPJOH-8-15-00 (-T/0) NAPFOH-5A-15-K (-T/O) PH
NAPJOH-10-3-0 (-T/0) NAPCOH-10-3-K (-T/0) m
NAPJOH-10-10-00 (-T/O) | PJG-10-0J NAPCOH-10-10-K (-T/O) CORE
NAPJOH-10-15-00 (-T/O) NAPCOH-10-15-K (-T/O) PK2
NAPJOH-15-3-0 (-T/O) TNPEASMS APCOR-10-3K (T/0) o8
NAPJOH-15-10-00 (-T/O) | PJG-15-0J NAPCOH-10-10-K (-T/O) S
NAPJOH-15-15-0J (-T/O) NAPCOH-10-15-K (-T/O) PRt
NAPJOH-20-6-C] (-T/0) NAPBOH-20-6-K (-T/0) PL
NAPJOH-20-15-0] (-T/O) | PJG-20-0) NAPBOH-20-15-K (-T/0) PN
:2:2:-22-20;( (T-T/O) INPF20.M5 NAPBOH-20-30-K (-T/0) <“F”§’Z§2i§) 56 x4 PN-B
-25-6-C] (-T/0) NAPBOH-20-6-K (-T/0) —PP
NAPJOH-25-15-[] (-T/0) | PJG-25-0 NAPBOH-20-15-K (-T/0) S
NAPJOH-25-30-[1 (-T/0O) NAPBOH-20-30-K (-T/0) M
NAPJOH-30-6-01 (-T/0) NAPFOH-20B-6-K (-T/O) PR
NAPJOH-30-15-0] (-T/0) | PJG-30-0J NAPFOH-20B-15-K (-T/0) PU
NAPJOH-30-30-[] (-T/O) NAPFOH-20B-30-K (-T/O) PW
NAPJOH-35-6-[1 (-T/0) NAPFOH-20B-6-K (-T/0) RA
NAPJOH-35-15-0] (-T/O) | PJG-35-01 | TN-PF-25-M6 | NAPFOH-20B-15-K (-T/O)
NAPJOH-35-30-1 (-T/O) NAPFOH-20B-30-K (-T/O) M
NAPJOH-40-6-0 (-T/0) NAPFOH-20B-6-K (-T/O) N
NAPJOH-40-15-00 (-T/O) | PJG-40-0J NAPFOH-20B-15-K (-T/O)
NAPJOH-40-30-0J (-T/O) NAPFOH-20B-30-K (-T/O)
NAPJOH-50-6-0 (-T/0) NAPFOH-20B-6-K (-T/0)
NAPJOH-50-15-10 (-T/0) | PJG-50-0 | TN-PF-50-M6 NAPFOH-20B-15-K (-T/O)
NAPJOH-50-30-0 (-T/O) NAPFOH-20B-30-K (-T/O)

*[Jin the table indicates the cup material.
%O in the table indicates the vacuum port (T or Y).

358



dn) uonong

dn) smojeg 2

1))

Suction Cup

PA
PB
PC
PCD
PD
PF
PO
T

CORE
Yy
k2B
PR
e
PN
PNB
e
PQ
PR
PU
PW
RA
SM
N

359

W\ I\ 11 R 450 Cup with Non-rotation Spring Fitting

Dimensions

(mm)
NAPJT/YH-2 NAPJT/YH-4
®3 ®4 "
< ﬁﬂkg’ﬂﬁ
M3X0.5 ! o
M8X0.75 M8X0.75 |/ A
o o
O] J [2a} :}:‘: : Ol j
o I : o)
—+ - T: —
8 212 8
Q M3X0.5 0
@4
Model number D E F G | Weight(g) Model number D E} F G | Weight(g)
NAPJT/YH-2-3- ] (-T/O) |50.5| 3 23 | 17 16 NAPJT/YH-4-3-[] (-T/O) |51.5] 3 23 | 17 16
NAPJT/YH-2-10- J (-T/O) |57.5| 10 17 NAPJT/YH-4-10- J (-T/O) |58.5| 10 17
NAPJT/YH-2-15- ] (-T/O) |(70.5| 15 | 31 | 25 20 NAPJT/YH-4-15-] (-T/O) (71.5| 15 | 31 | 25 20

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPJT/YH-6

M8X0.75

Model number D E F G | Weight(g)
NAPJT/YH-6-3- I (-T/O) 57 | 3 23 | 17 185
NAPJT/YH-6-10- (-T/O) | 64 | 10 19
NAPJT/YH-6-15- ] (-T/O) |76.5| 15 |30.5|24.5 22

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

Common Specifications

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPJT/YH-8

©
Width across flat 6
M8X0.75
Al 1
U] ._._’}
[a)
aal
(o)}
10H
Model number D E F G | Weight(g)

NAPJT/YH-8-3- ] (-T/O) 57 | 3 23 | 17 18.5
NAPJT/YH-8-10- (-T/O) | 64 | 10 19
NAPJT/YH-8-15- 1 (-T/O) |76.5| 15 |30.5|24.5 22

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 4 Tube O.D ¢ 6
T 0.5 1.5
(0] 3.0 4.0




Dimensions

NAPJTH + YH /Cup with Non-rotation Spring Fitting

(mm)
NAPJT/YH-10 NAPJT/YH-15
10H
Model number D E} F G | Weight(g) Model number D E F G | Weight(g)
NAPJT/YH-10-3- [J (-T/O) |59.5| 3 23 | 17 31 NAPJT/YH-15-3-[] (-T/O) | 61 | 3 23 | 17 32
NAPJT/YH-10-10- J (-T/0)|66.5| 10 31.5 NAPJT/YH-15-10- ] (-T/O)| 68 | 10 325
NAPJT/YH-10-15-] (-T/O)| 79 | 15 |30.5/245| 345 NAPJT/YH-15-15-] (-T/0)|80.5| 15 |30.5/24.5| 355

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector

selected.

NAPJT/YH-20

14H
Model number D E F G | Weight(g)
NAPJT/YH-20-6-] (-T/O) | 78 | 6 36 | 28 64.5
NAPJT/YH-20-15-J (-T/O)| 87 | 15 69.5
NAPJT/YH-20-30- ] (-T/0O)| 124 | 30 | 58 | 50 935

%[ in the table indicates the cup material.
3% The weight value is when NBR (Nitrile rubber) / without connector
selected.

Common Specifications

* [ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPJT/YH-25

Model number D E F G | Weight(g)
NAPJT/YH-25-6- 1 (-T/O) [80.5| 6 36 | 28 66
NAPJT/YH-25-15-J (-T/0)|89.5| 15 71
NAPJT/YH-25-30- [1 (-T/0)|1265| 30 | 58 | 50 95

%[ in the table indicates the cup material.
¥ The weight value is when NBR (Nitrile rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0) 4.0

dn) uonong

dn) smojeg 2

1)

Suction Cup

PA
PB
PC
PCD
PD
PF
PFO
PH

CORE
2
PK2B
PK2L
o

PN
NB
—

PQ

PR

PU

PW

RA

SM

™

360



dn) uonong

dn) smojeg 2

1))

Suction Cup

PA
PB
PC
PCD
PD
PF
PO
T

CORE
Yy
k2B
PR
e
PN
PNB
e
PQ
PR
PU
PW
RA
SM
N

361

W\ I\ 11 R 450 Cup with Non-rotation Spring Fitting

Dimensions
(mm)
NAPJT/YH-30 NAPJT/YH-35
@5 @6
N
| 12H
M5X08 |
i 19H
I wn
M5X0.8 I - -
Ol w
,‘j fa) ) A
mex1__ =t i
~
) 14H 14H
@30
Model number D E F G | Weight(g) Model number D E} F G | Weight(g)
NAPJT/YH-30-6-[1 (-T/O) | 86 6 36 | 28 67.5 NAPJT/YH-35-6-[1 (-T/O) | 86 6 36 | 28 70
NAPJT/YH-30-15-1 (-T/O)| 95 | 15 725 NAPJT/YH-35-15-[] (-T/O)| 95 | 15 75
NAPJT/YH-30-30-[J (-T/0)| 132| 30 | 58 | 50 96.5 NAPJT/YH-35-30- ] (-T/O)| 132| 30 | 58 | 50 99

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPJT/YH-40

14H
Model number D E F G | Weight(g)
NAPJT/YH-40-6-] (-T/O) | 86 | 6 36 | 28 72
NAPJT/YH-40-15- 1 (-T/O)| 95 | 15 77
NAPJT/YH-40-30- ] (-T/0)|132| 30 | 58 | 50 101

[ in the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

Common Specifications

*[Jin the table indicates the cup material.
% The weight value is when NBR (Nitrile rubber) / without connector
selected.

NAPJT/YH-50

M5X0.8

MéxX1

Model number D E F G | Weight(g)
NAPJT/YH-50-6-] (-T/O) | 88 | 6 36 | 28 87.5
NAPJT/YH-50-15- 0 (-T/O)| 97 | 15 92,5
NAPJT/YH-50-30- ] (-T/0O)| 134| 30 | 58 | 50 | 116.5

%[ in the table indicates the cup material.
3 The weight value is when NBR (Nitrile rubber) / without connector
selected.

Connector Weight(g)

Symbol Tube O.D ¢ 6
T 1.5
(0] 4.0




PJ

NAPJTH + YH /Cup with Non-rotation Spring Fitting

dn) uonong

dn) smojeg 2

1)

Suction Cup
PA
PB
PC

D

—
PF

PO

—
CORE
PK2
PK2B
PK2L
PL
PN
PN-B

—

—

——

PU
PW
RA
SM
™

362



dnp uonong

dn) smojleg g

1

Suction Cup

PA
PB
PC

PCD
PD
PF

PFO
PH
PJ
PK2
PK2B
PK2L

PL

PN

PN-B
PP
PQ
PR
PU
PW

RA

SM
TN

363

(ge]:{3 Mark Free Core for PJG Cup

Attachment for PJG cup
Besides being mark free it also prevents deformation of
thin work pieces and adhesion!

»

One touch mounting !
Easily mounting to the bellows part

of cup (PJG series) Cross section

( The material can be selected from PEEK, POM, SUS. )

How to Order

CORE — 06 — S3
@ @
| ‘ |
@ Applicable Cup Size @ Material
Symbol | Applicable cup size  Symbol | Applicable cup size Symbol Material
06 PJG-6 35 PJG-35 S3 SUS303
08 PJG-8 40 PJG-40 PO POM
10 PJG-10 50 PJG-50 PE PEEK
15 PJG-15 60 PJG-60
20 PJG-20 70 PJG-70
25 PJG-25 80 PJG-80
30 PJG-30




PJ

CORE / Mark Free Core for PJG Cup

w
C
=
Dimensions S
o
(mm) %
CORE-06 CORE-08 CORE-10 ~
275 8 21 &
6 6 @78 g
24 PIG6 24 PIG-8 246 PJG-10 a
| | | %
| I/ | TS —
S P P I SR Q ol o
R _ ST == ;
@15 04
e @45 n 8 "
6 29
@10 02
Suction Cup
PA
Eil A
215 @4 PB
9 245 3 28 PC
@6 29 PCD
PD
CORE-15 CORE-20 PF
212 ot PFO
@79 . 2108 PJG-20 L
s PIG-15 246 — PH
| PJ
7 | core
| CORE
.
i | PK2
- PK2B
sl 21 =< . —
e 1 PK2L
@4 e
) 212 e 0 216 2 PL
213 218 PN
PN-B
2115 | @15 ‘ PP
2 =53] d -
[a0]
@4 @4 PR
B 212 B 216 PU
213 218 PW
RA
Weight SM
(9) N
Model \ Material | S3 PO PE Symbol Material
CORE-06 04 0.1 0.1 S3 SUS303
CORE-08 0.9 0.2 0.1 PO POM
CORE-10 0.7 0.1 0.1 PE PEEK
CORE-15 1.9 0.3 0.3
CORE-20 4.3 0.8 0.7

364



(@e]:{Y Mark Free Core for PJG Cup

wn
C
=
S Dimensions
g (mm)
o CORE-25 CORE-30 @20
E 1038
o ) PJG-30
= PJG-25 ©538
w -
f_} ‘
‘ \
T : Y
‘ . —— o«
! a| o ‘ -
:: Y . 1 S;I B | . A
@4 26
3 221 0 o 226 9
o o o
@23 28
218 218
‘ | ;
PB S EX
" 04 26
PC S @21 a @26
PCD @23 @28
PD
PF
PFO @25 @30
ﬁ @108 @108 PJG-40
_ 258 PJG-35 258
PJ | |
‘ \
CORE | vy
| ~
PK2 o| 9 [ - ©| 2
PK2B n _"7 LQI > 1
PK2L 26 26
PL 3 @29 9 o 33 pt
PN @35 @40
PN-B
PP ‘ @26 ‘ @31
PQ ‘ ‘
0 6 @6
PU 2 229 0 233
PW @35 @40
RA
oy Weight
N (9)
Model \ Material | S3 PO PE Symbol Material
CORE-25 7.9 1.4 1.3 S3 SUS303
CORE-30 9.0 1.6 15 PO POM
CORE-35 199 | 35 3.3 PE PEEK
CORE-40 28.1 5.0 47

365



PJ

CORE / Mark Free Core for PJG Cup

Dimensions
(mm)
[ CORE-50 | [ CORE-60 |
@40
©19.8 @45
M10X1.25 :
@78 PJG-50 @125 PJG-60
; ) p—
| <~ ~ pg .
= § /Aglgi RS
8] - 1 ol = [L——— <~ |
26 @10
238 3 @50 3
@50 260
‘ @37 ‘ ‘ @52 ‘
o T g S [——Z 3f
V 26 t @10
238 @50
@50 260
[ CORE-70 | | CORE-80_
‘ @55 268
M10X1.25 @125 ‘ PJG-70 M10X1.25 @12‘5‘ PJG-80
T 1 | i 1
\ | e | —
/4&&7 5 5 /4['_||_‘\ I EE
SIS S N =>"
210 T 210
i) ~_
@54 3 o 270 0
270 @80
‘ 260 | \ @70 |
| 1 | | |
e ——
4= | — # | | =}
t 210 210
(Y]
54 © @70
270 @80
Weight
(9)
Model \ Material | S3 PO PE Symbol Material
CORE-50 46.9 8.3 7.8 S3 SUS303
CORE-60 81.6 14.5 13.6 PO POM
CORE-70 151.1 | 269 | 25.2 PE PEEK
CORE-80 2132 | 379 355

dn) uonong

dn) smojeg 2

1)

Suction Cup
PA
PB
PC
PCD
PD
PF

PO

S
P)
CORE
PK2
PK2B

PK2L

PL

PN

PN-B
—
o
——

PU

PW

RA

SM

™

366



